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 22. A student sets up a circuit and measures the voltage across and the current in a resistor. 

The measurements and their uncertainties are

 voltage = (10∙0 ± 0∙1) V
 current = (0∙50 ± 0∙01) A

The approximate absolute uncertainty in the calculated value of the resistance of the 
resistor is

A  ±0·11 Ω

B  ±0·2 Ω

C  ±0·4 Ω

D  ±1 Ω

E  ±2 Ω.

 23. A circuit is set up as shown.

3·0 Ω

6·0 V

6·0 Ω
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The power supply has negligible internal resistance.

The power dissipated in the 3∙0 Ω resistor is

A  3∙0 W

B  6∙0 W

C  9∙0 W

D  12 W

E  18 W.
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